1.

o]yl SH 43k 4 % ol Waps] halol ket v sy
a

(Fof Tap7] dislo] 7t v sl =

)
b)
e E5 EE

(O I L L1 LI L

3

ool wet7] Hhelol 7K S 471 71 B e Ao 2
oL AYU7H?

O 44k19k39k-2wt @ 44b-2¥h19k-34t
® 14Hk-35k 245k 41t @ 14k-2¥F-349k 41t



1T

T

1

T

ar

=

W P8

T &

g ~ 1 [

k I8 aigul

X °| 8 T

ol o] L

b o T
dlo ol S LH LH L L
9) Z_l T T T T
o = O mn
o o M H T
NE

o W/ ok | 5| ok | |
o R R TR|R
il

Jl

~dl

of W

oF T

= oF

o

M2 ol&

2~
s

A=
T~

FES 1A

@ A, A



3. A w2 43hd SgEo] Eotshs AL HolE 2A5H]

Upehd uho e = o

EopleAed BoD

@ 10
5 -
o n
STl 2=
] e R e L e

7V & S50l Folste A EolE A= 37T 1
SR

Ct

[=]



